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Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

: 1 —
l
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(Total for Question 1 is 2 marks)
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2 The time series graph shows information about the percentages of the people in a village
that used the village shop for the years between 1980 and 2010

F
e s ; on g ; o
40 o i A T i i 1l T |
AN T { i 1 i | | i [ [ |
i R [ i I (] j ) [ {
NG A e e e
TN i i i i 1 i T
N e e e e
His LN | Ll Ly N S e
30 i YT ] i | i 1 |
3 ERENE AN NAREERRAE T
1 1 [] 1l
Percentage | : ! : : T | : N j |
20 I “.n_:.,...: ; _L B 5 e il :f~.-,~:e,:—-:':::¢:-uilf;:,—.:ez =-':.-; O 7—77?
i ! Il A }
He | |
15 R B A Sy A e o
| i { ] [N
,‘ e -8 e e T e ...._'—_-:ll- e e P e 4 "E T e =
10 : 1‘ : \: : ] [] ] I:_ L ‘1 : T i
| i ! N ¥ el ] [} | i i
EREAN AAREE 5 e A
S e e e
[] [ It | f [
[l [H] ] 1 [ ] [ i
[ [N (] i (| [ [ [ ] i
1980 1990 2000 2010 2020
Year

(a) Describe the trend in the percentage of the people in the village who used the shop
for this period.

o DECREAT W (ElGRTME 9 [EDAE 1Y VWos THE JHoE-

(b) (i) Use the graph to predict the percentage of the people in the village likely to use
the shop in the year 2020

(i) Is your prediction reliable?
Explain your answer.

(Total for Question 2 is 4 marks)
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' 3 (a) Expand and simplify 3(y—2) + 52y + 1)

EER" +10y + 5

(b) Simplify  Su*w* x Tuw?

(Total for Question 3 is 4 marks)
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The diagram shows a regular octagon and a regular hexagon.

Find the size of the angle marked x
You must show all your working.

EXTeRiot ANCLE OF OTAGoN = 12_@(:_9 = 45

P 1ATER oY ANGLE = (R0 -uS = (3 <
X TERio2 ANGLE 0F [HéxAalav = 360 = 6O
’ &
o ATEet ANGLE = (0 <60 = 120
Y= R6o-185-120  (AAcLer AT A oot Als VP T 3509

- I DS, ©

Y

X' e R e

(Total for Question 4 is 3 marks)
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! 5 Here is a Venn diagram.

VANV SIHL NI LM LON OG-

11 1317 19

(a) Write down the numbers that are in set

() AUB

1S,12,18 10 14 16|
(i) AN B

One of the numbers in the diagram is chosen at random.

(b) Find the probability that the number is in set A’
Trer A -

(Total for Question 3 is 4 marks)
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the number of cows and the number of sheep are in theratio 6 : 5 = /2 1 1O
the number of sheep and the number of pigs are intheratio2:1 = (¢ ' &5

The total number of cows, sheep and pigs on the farm is 189
How many sheep are there on the farm?
Cows fHesp  fi4s
(2 (o G 1$7

I)x'?

(Total for Question 6 is 3 marks)
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‘ The arc ABC is a quarter of a circle with centre O and radius 4.8 cm. |
AC is a chord of the circle. |2
Work out the area of the shaded segment. R
Give your answer correct to 3 significant figures.

ApcAa  OF (PuANZaAT = L 7o x .9 = S b7
“

MEA  9OF  TiAGLE: L ox ¢ 2 z . NS2 | )

| z

- SHAMEY Algqg = S Ve — 1.2
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8 Steve is asked to solve the equation 5(x + 2) = 47
o Here is his working.
e A D=t
it 5x+2=47
2 5% =45
z v
g Steve’s answer is wrong.
SRR
o 3% (a) What mistake did he make?
=
S0 P
1 6 R BEN0 2 = | -
e
8
..................................................................................................................................................................................................... (_\
Liz is asked to solve the equation 3x* + 8 = 83
Here is her working.
3x2+8=283
3x2=175
=25
=10
(b) Explain what is wrong with Liz’s answer.

(Total for Question 8 is 2 marks)
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9 The functions f and g are such that

|
|

1 f(x)=3(x—4) and g(x)= g +1
]

;1 (a) Find the value of f(10)

|

42(10): "3(!’\)-—4») = Sxb = (23

(b) Find g'(x)
(n)= W+ |
gl = L

i[_f-v'g(u):y y =L+

(<

il 3 ¢

—

g

gly-1)_
5%)_. y 8 gl(x) =

, (¢) Show that ff(x) = 9x —48

E(w) = 30-«) = B2

l " + 4_{,‘] - 2 (}q - - u—) | ' :
2 (B 16) |

h
-

-

Q&

= Ci ) = '-{'g
@)
e o ____ (Total for Question 9 is 5 marks)
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10 The population of a city increased by 5.2% for the year 2014
i At the beginning of 2015 the population of the city was 1560000
Lin assumes that the population will continue to increase at a constant rate of 5.2% each year.

(a) Use Lin’s assumption to estimate the population of the city at the beginning of 2017
Give your answer correct to 3 significant figures.

by 5
[.052 x 1S¢o ooo

= 1726y5 Y

173 ccoo. .
3)

(b) (i) Use Lin’s assumption to work out the year in which the population of the city will
reach 2000000

Ll N e A

20?1082 x 1 LpysE = 121623¢

20 1052 x Qb 2Fy = 141063 g . [BERGWET S 000 00

Joze 1052 x 1410672 = 20160 3up WU 201 R L THE
Lo 1R |
0F 2010 . o

(if) If Lin’s assumption about the rate of increase of the population is too low,
how might this affect your answer to (b)(i)?

(Total for Question 10 is 6 marks)
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11 The cumulative frequency graphs show information about the times taken by 100 male

runners and by 100 female runners to finish the London marathon.
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A male runner is chosen at random.

(a) Find an estimate for the probability that this runner took less than 4 hours to finish

the London marathon. &
Uxbo= 240 MWITES
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(b) Use medians and interquartile ranges to compare the distribution of the times taken
by the male runners with the distribution of the times taken by the female runners.

i pas 2i3 UE: MreE 1325
Ferare 43 Fervies  3LZ

TR MAsES 2Z5-2i8 = 72
IYk Fovmes DL- W = &

(Total for Question 11 is 6 marks)
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12 Marie has 25 cards.
Each card has a different symbol on it.

Marie gives one card to Shelley and one card to Pauline. i

(a) In how many different ways can Marie do this?

2 € se Pl

There are 12 boys and 10 girls in David’s class.
David is going to pick three different students from his class and write their names in a

- . T———
list in order.

—

The order will be

boy 2K girl
girl boy
_| boy girl

'

(b) How many different lists can David write?

(2x10x !y leI’ZX
< 1324 = 1080 (829 4+1080 = 2400

- Acs PE7R  TFae Cﬁ%\l Ple  THE
,'_ L0 = T = /12 co

NO © 1T SAMS 1N ONR

___(Total for Question 12 is 5 marks)

134 Pearson Edexcel Level | /Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 2 - September 2015 @ Pearson Education Limited 2015



;

13 The number of slugs in a garden 7 days from now is p, where

e p,= 100
%
el p,,, = 1.06p,

Work out the number of slugs in the garden 3 days from now.

. 2 E'D‘:’Pc- = |ILokx\go = 0L

P = 11ObP1 = I-Dbxlok

(Total for Question 13 is 3 marks)

‘ 14 D is directly proportional to the cube of ».
Mary says that when # is doubled, the value of D is multiplied by 6

Mary is wrong.
Explain why.

(Total for Question 14 is 1 mark)
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15 Karol runs in a race.

The graph shows her speed, in metres per second, 7 seconds after the start of the race.
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(a) Calculate an estimate for the gradient of the graph when ¢ =4
You must show how you get your answer.

lo-3-% - &7 _\ o7
S.¥-0 $-2
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(b) Describe fully what your answer to part (a) represents.

e (Total for Question 15 is 6 marks)

3
(ii) Find the value of 10*
Give your answer correct to 1 decimal place.

(Total for Question 16 is 2 marks)
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a is 8.3 cm correct to the nearest mm
b is 6.1 c¢m correct to the nearest mm

Calculate the upper bound for c.
You must show your working.

285 b = b.0S

(1 MNAy T (aaxtay

- @
Cﬂ’r\:r = G/;L\ax"' lof\r\ma = g 85 - G'OS.L: 3312

IHYSHLNTALBAIONOG

(Total for Question 17 is 4 marks)

i -
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d
i
f
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i
|
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(Total for Question 18 is 3 marks)
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19 (a) Sketch the graph of y = cos x° for 0 < x < 360

YA

=V

T
90 180 270 360

(2)
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(b) The graph of y = f(x) is shown on both grids below.
(i) On this grid, draw the graph of y = 2f(x)

(2)

(Total for Question 19 is 4 marks)
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PORST is a regular pentagon.

R, U and T are points on a circle, centre O.
OR and PT are tangents to the circle.

RSU is a straight line.

Prove that ST = UT.
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21 Given that
2x—1:x—4 =16x+1 : 2x—1

find the possible values of x.

Q’L" ' = N - L"L
| o+t 22— 1

-:. (7(«')(—;?‘7(——:) % (“:)'1.4'1)('}(.-14-)
ER TR T R [ba¥— 3% - 1

129 -S9x - S = O

o= 1" 1 o= -b * n/lal, yac<
h=-39

i 2e-
=S

-

$9 —i—ﬂ/’{ﬁ,_g‘q)mf_ el e S

B
. Sazxtil
PRVS

)
- 5,

i

: _ : , _ (Total for Question 21 is 5 marks)

TOTAL FOR PAPER IS 80
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